Precalculus
WS 5.3 Multiple Angle Solutions

Solve each equation, “,'_:AH SOLUT IS )

s 3 2 6= dll, omn
g 2.6 0: 3%’Qbrrn
393
ng.-}
N33
4N
e e.
3 ’1@q:raun 3 "‘g +amm

3) 5+sin26=z

|
Ty
i
=5
-+
E

§ : 418 = |
-1
SiN26 - 3
¢ v
26 =10 19'—%+2rm
. Ir )
o= .4 +un e-“TF.Jz.nm
5) 2sin48=1
-1
Salntle 3
v
Ho-w .
groAm ‘*9'5‘{+2rm
ezB'J‘+7£l_-n e; 1 2
% o4 + 2D
<, fin
b<qt 3 g=5r , M
R
7) tan 360 =-1
¢ v
30=3r 39=1
q+am‘ e {J,arm
8:3r am
T L = .
A e S
6=1, 3un
'3 e am

Name

ID: 1

Date L/{fS!'l'?

2) —2=-2+cos 360

0= ws36
J Y%

30=T,qm 30°: %T,( amn
;]

6=\%_|T48\'m €= A+
6= 3r+8TN oz sr+&TN
6) —2sin 26 = 2

6in26+ -3 S sn2g = {3
3 a
/ A\

20 ‘3{+aﬂn

e~ 3.%’15 +T0

Period



Find all solutions to each equation
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